Marking Scheme:

Question No. | Difficulty | Cognitive levels Marking Scheme
level
Q.1) a) | M Application i)Types of salts — 2 marks
ii)carbonate alkalinity = 80 ppm , bicarbonate
alkalinity = 120 ppm-4 marks
b) | M Comprehension 2 principles — 2 marks, 4 points of comparison |
— 4 marks
c) | M Comprehension Definition — 1 mark, figure — 2 marks.
principle — 1 mark
Q.2 a) | M Application i)Definition -1 mark, types — 2marks
ii)Total hardness — 1400 ppm-1 mark,
Permanent hardness 728 ppm— | mark. |
i Temporary hardness 672ppm-— | mark (Total- |
Ly |3 marks) ¥ o e
! b) | M Application i)Zeolite — | mark, principle with reactions — 2 |
| marks
ii)Hardness of water = 244.2 ppm — 3marks |
c) [M Comprehension 4 points — 4marks
0.3) a) | M Comprehension Cell reactions — 1 mark, procedure — |
mark.calculations — 3 marks, titration curve —
I mark
b) | M Comprehension Definition — I mark each
Explanation with example — | mark each
el | Lk Comprehension Definition — 1 mark, diagram — | mark,
representation — 1 mark, two advantages — |
mark
Q4) a) | M Comprehension Possible transitions — 1 mark, figure — 1 mark.
4 transitions with example -4 marks
b) Application E = 0.75V — 2 marks
i)E = 1.1V — 2 marks =
¢c) | M Comprehension Definition — | mark, titration curve — | mark. -'
explanation — 2 marks |
| .
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